

## 05/20/2025 RIMBEY REG TUES SALE

Head: 163

Lot	Pen	Description	Avg WT	Total WT	Shrink	Hauled	Feed	Health	Owner	Buyer	Price	Head
1	1A	5 BLK HEIFER	958	4792	3%	15KM	WHEAT SILAGE LATELY, 3LBS BARLEY MOST OF WINTER, WEANED NOV 1	5 WAY, 8 WAY & IVOMEC SPRING & FALL, OPEN HFRS, ANGUS X	CRAIG BUTCHER			5
2	2A,2B	9 BLK HEIFER	889	8002	3%	15KM	WHEAT SILAGE LATELY, 3LBS BARLEY MOST OF WINTER, WEANED NOV 1	5 WAY, 8 WAY & IVOMEC SPRING & FALL, OPEN HFRS, ANGUS X	CRAIG BUTCHER			9
3	3A	6 BLK HEIFER	840	5039	3%	15KM	WHEAT SILAGE LATELY, 3LBS BARLEY MOST OF WINTER, WEANED NOV 1	5 WAY, 8 WAY & IVOMEC SPRING & FALL, OPEN HFRS, ANGUS X	CRAIG BUTCHER			6
4	3B RING	2 BLK HEIFER	0	0	0%	15KM	WHEAT SILAGE LATELY, 3LBS BARLEY MOST OF WINTER, WEANED NOV 1	5 WAY, 8 WAY & IVOMEC SPRING & FALL, OPEN HFRS, ANGUS X	CRAIG BUTCHER			2

		-			_					
5	4A	4 MXD HEIFER	863	3450	0%	243KM	HAY FOR THE LAST 2 WEEKS, WEANED DEC 1	PYRAMID & VISION IN JUN, DEC & FEB, OPEN HFRS	STANLEY BROS RANCH	4
6	4B	8 MXD HEIFER	789	6315	0%	243KM	HAY FOR THE LAST 2 WEEKS, WEANED DEC 1	PYRAMID & VISION IN JUN, DEC & FEB, OPEN HFRS	STANLEY BROS RANCH	8
7	5A,5B	12 MXD HEIFER	714	8565	0%	243KM	HAY FOR THE LAST 2 WEEKS, WEANED DEC 1	PYRAMID & VISION IN JUN, DEC & FEB, OPEN HFRS	STANLEY BROS RANCH	12
8	6A	9 MXD HEIFER	651	5860	0%	243KM	HAY FOR THE LAST 2 WEEKS, WEANED DEC 1	PYRAMID & VISION IN JUN, DEC & FEB, OPEN HFRS	STANLEY BROS RANCH	9
9	6B	1 TAN HEIFER	0	0	0%	243KM	HAY FOR THE LAST 2 WEEKS, WEANED DEC 1	PYRAMID & VISION IN JUN, DEC & FEB, OPEN HFRS	STANLEY BROS RANCH	1
10	7A	3 MXD HEIFER	981	2944	3%	85KM	FREE CHOICE HAY & 5LBS ROLLED OATS/DAY, WEANED NOV	8 WAY & BOVISHIELD , NOT EXPOSED TO A BULL	BLAINE BOWERSOCK	3
11	7B	6 MXD STEER	786	4714	4%	11KM	OFF COWS & 2ND CUT HAY, WEANED MAY 19/25	BOVISHIELD GOLD ONE SHOT & VISION 8 JAN 11, CASTERATED JAN 11, AGE VERIFIED	HEILEMANN FOREST PRODUCTS LTD	6
12	A2	9 MXD	739	6648	4%	11KM	OFF COWS & 2ND CUT HAY,	BOVISHIELD GOLD ONE SHOT & VISION 8 JAN 11, CASTERATED JAN 11, AGE	HEILEMANN FOREST PRODUCTS	9

		STEER					WEANED MAY 19/25	VERIFIED	LTD	
13	A3	8 MXD HEIFER	730	5842	4%	11KM	OFF COWS & 2ND CUT HAY, WEANED MAY 19/25	BOVISHIELD GOLD ONE SHOT & VISION 8 JAN 11, CASTERATED JAN 11, AGE VERIFIED	HEILEMANN FOREST PRODUCTS LTD	8
14	A4	4 MXD HEIFER	670	2678	4%	11KM	OFF COWS & 2ND CUT HAY, WEANED MAY 19/25	BOVISHIELD GOLD ONE SHOT & VISION 8 JAN 11, CASTERATED JAN 11, AGE VERIFIED	HEILEMANN FOREST PRODUCTS LTD	4
15	A5 RING	1 RED HEIFER	0	0	0%	11KM	OFF COWS & 2ND CUT HAY, WEANED MAY 19/25	BOVISHIELD GOLD ONE SHOT & VISION 8 JAN 11, CASTERATED JAN 11, AGE VERIFIED	HEILEMANN FOREST PRODUCTS LTD	1
16	A6	5 BLK STEER	711	3555	3%	85KM	OAT SILAGE BALES, WEANED NOV	FULL HEARD HEALTH, HOME RAISED, APR/MAY CALVES	PAT ALEXANDER	5
17	A7	3 BLK STEER	781	2343	3%	85KM	OAT SILAGE BALES, WEANED NOV	FULL HEARD HEALTH, HOME RAISED, APR/MAY CALVES	PAT ALEXANDER	3
18	B2	4 BLK HEIFER	787	3148	3%	85KM	OAT SILAGE BALES, WEANED NOV	FULL HEARD HEALTH, HOME RAISED, APR/MAY CALVES	PAT ALEXANDER	4
19	B3,B4	11 MXD HEIFER	739	8124	3%	85KM	OAT SILAGE BALES, WEANED NOV	FULL HEARD HEALTH, HOME RAISED, APR/MAY CALVES	PAT ALEXANDER	11
20	B5	8 BLK HEIFER	667	5335	3%	85KM	OAT SILAGE BALES, WEANED NOV	FULL HEARD HEALTH, HOME RAISED, APR/MAY CALVES	PAT ALEXANDER	8
		3 BLK MIXED					OAT SILAGE BALES,	FULL HEARD HEALTH, HOME RAISED, APR/MAY	PAT	

21	B6 RING	CATTLE	0	0	0%	85KM	WEANED NOV	CALVES	ALEXANDER		3
22	B7	4 RMX HEIFER	1044	4176	3%	20KM	SILAGE, WEANED OCT	VISION 8 & EXPRESS 10 OCT 13/24 & BOOSTED NOV /24, OPEN HFRS, SIMM	R FIVE SIMMENTALS		4
23	PAIRS SELLING AT NOON	1	0	0	0%				UNKOWN		1
24		36 MXD COW & CALF PAIR	0	0	0%		COWS ON SILAGE	CALVES HAD 8 WAY, VIT AD&E & SEL, TORTAZURIL & IVOMEC AT BIRTH, COWS HAD 8 WAY & IVOMEC ON MAY 17, BANDED, BULLS FROM NORTH STREAM & STAN SKEELS, LIMO X	RANDY, LINDA & WYATT TENNANT		36
25	MORE PAIRS TO FOLLOW	1	0	0	0%				UNKOWN		1